#7 - Chapter Review April 23, 2019

Review
The actual length of a needle is 6 cm. The

length of the needle on a scale diagram is 9

cm. What is the scale factor of the diagram?
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Draw a di——ag’js;am of this model of an mp3
player. Use a scale factor of 2.5.
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Here is a scale diagram of a picnic table.
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The actual length of the table is 180 cm with
legs 60 cm. What is the scale factor?
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The rectangular playground has dimensions 24
m by 16 m. Draw a scale diagram of this
playgound with a scale factor of.
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